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DO NOW

A chicken coop is in the shape of the prism shown below.

p) Determine the volume, in cubic feet, of . ANNE J
the coop. Show the calculations that lead to "X \ N LAt |
our answer.
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b) If the entire volume of air must be moved out of the coop in an hour, how
many cubic feet per minute must a fan move to accomplish this task?
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Cavalieri's Priniciple: If the cross-sections of two prisms
have equal areas and equal heights, then the two prisms
have equal volumes.
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Right Triangular Prism: V = B+h
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What is the volume of an oblique cylinder with a radius of 3
and a height of 97

Cavalieri's principle also applies when comparing solids
with differing base shapes.

A right circular cylinder and a right rectangular prism are given.
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If the area of the circular base is equal to the area of the
rectangular base, volumes of these two solids will be EQUAL
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Two prisms have equal heights and equal volumes. The base
of one is a pentagon and the base of the other is a square. If
the area of the pentagonal base is 36 square inches, how many
inches are in the length of each side of the square base?
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A prism has a base that is an equilateral triangle whose sides
measure 6 inches each. The height of the prism is 8 inches.
What is the volume of the prism, to the nearest cubic inch?
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A solid metal prism has a rectangular base with sides of 4 inches and 6
inches, and a height of 4 inches. A hole in the shape of a cylinder, with
a radius of 1 inch, is drilled through the entire length of the rectangular
prism.

What is the approximate volume of the remaining solid, to the
nearest cubic inch?
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